Hogwarts Expansion Problem

Use HogwartsExpansion.ppt to introduce the problem and the following activities. The goal is to expand Hogwarts and build more houses for the students.  How many can be built?

The spreadsheet file for this problem contains 5 worksheets, only one of which is visible as you open the file.  Each worksheet will take you through a series of computational activities. These worksheets are called: 1) model cost, 2) two possible models, 3) reduce the costs, 4) solution to reduced costs, 5) now what can be done.  The first worksheet visible to you is: model cost. So, let’s start with this one.

1) In the worksheet “model cost,” you may be using an actual model or using your imagination.  Enter the quantity for the construction material you intend to use in the expansion of the Hogwarts project.  Next, enter appropriate formulas in the worksheet to compute subtotal and total cost for the expansion project.

2) To see the next worksheet, go to Format(Sheet(Unhide   to unhide the worksheet called “Two Possible Models.”  Compute the cost for each construction item, and the total cost for each model shown by entering the appropriate formulas in the cells.  Compare the cost of the two models.

3) Use the procedure shown in step 2 to “unhide” the worksheet called “reduce the cost.”  Use the yellow-highlighted sections in the column “Item”, and manipulate the quantities of these items such that, for each model, you reduce the cost of the model to the amount shown.

4) Now “unhide” the next worksheet called “Solution to reduced costs.”  Some values are not readable; this is where you see the “########” symbols.  Fix this problem so you can see the values in these cells.  This worksheet shows you only one possible solution to the problem you were asked to solve in step 3, above.  Compare this solution with your own.

5) Unhide the worksheet called “Now what can be done.”  Make sure the values in the cells where you see “########” are visible.  Now, given the budget shown for “Total Money,” determine at least one more what combination of both models that are “OK” to construct.  Many different answers are possible here.
6) In the column called “Allowable?” try to see how the “If” statements work.  Use your own ingenuity to change the condition for these “If” statements.
